Truck wheel balancer equipment @ 40

Cone adaptor UC215 HW (C)
©—©

. . OPTIONS for
IV -V CONE Centring Kit UC215 HW (C)
. . OPTIONS for
SR215/2 Centring Kit UC215 HW (C)
SR3 adaptor OPTIONS for
UC215 HW (C)
. OPTIONS for
TRILEX / DAYTON Kit UC215 HW (C)
Quick locking ring kit 40 x 4 with GP ring nut OPTIONS for
©—9" ' G40 steel wing nut UC215 HW (C)

Universal quick adaptor UH20/2

- . o
@Fﬁ Universal adaptors for driving wheels RM20/15

24.05.06 FI TRUCKS-C _@40GB -1



@ 40

2- GB FI_TRUCKS @40 28.04.05



iy WG~  UC215HW (C) cone adaptor

machine equipment .

UCZ-:IHB-HW (C) standard adaptor equipment O
M(gfl\/illr\lllg;l(]; C? optional IV-V cone kit~ GG

41FF59368

GENERAL FEATURES:

- For wheel balancers with cone adptor body incorporated in the machine shaft, complete with preloaded spring.
- With cones and shaft in hardened steel

- For locking motor vehicle/pickup truck wheels with central hole

- For wheel balancers with guard the ring nut GMMA40 can be used without the handwheel

ITEM CODE DESCRIPTION DATA

42FM62433 threaded end-piece L =205

(2] 325047011 knurled washer @ 10

e 312120137 screw TCEI M10x160 UNI 5931
a 114008002 allen wrench 8 mm

@ 40FF43714 Al cone Range @ 43 + 69

@ 40FF43715 A2 cone Range @ 60 + 81

@ 40FF43716 A3 cone Range @ 79 +110

@ 40FF52417 VL/2 cone @ 97+170 (@ 97+180 with GG )
AQFF43745 G40 spacer disc

@ 312120119 screw TCEI M10x20 UNI5931
@ 40FF79260 polyurethane ring

GG 940010105 GG ring - in optional IV-V cone kit

14.10.08 FI UC215 HW (C) /SE2_@Z40GB -1



UC215 HW (C) cone adaptor - @ 40

MOUNTINGS

STANDARD PICKUP TRUCKS

OPTION FOR WHEELS WITH CENTRAL HOLE
170+180 @.

Mounting the GG ring (in optional V-V
CONE KIT) on the disc (10), pickup truck
wheels up to 180 @ central hole can be
locked.

Models:

Pick Up - FORD

F250 super cab XLT
F250 crew cab XLT
F350 crew cab LARIAT
F350 crew cab DUALIE

F450
MERCEDES { ﬂ

Sprinter New series

AUTO
It is recommended to use the adaptor
with centering from the inside.

- In sequence mount the suitable
cone with the taper to the outside, the
wheel, the collar and the ring nut.

\

40FF51334 A
40FF51315
40FF79260
41FF83146
312120067
321232006
218295313
217295353
325035006
L 312120073

GMM40
41FF59322

I @ m m o O ®m >

2- GBFlIUC215 HW (C) /SE2_@40 14.10.08



@ 40

IV-V CONE
Centering
Kit
41FF43821

GENERAL CHARACTERISTICS:
- Suitable for all truck wheels
- For locking wheels with central hole

ITEM CODE DESCRIPTION DATA

312120119 screw TCEI M10x20 UNI 5931
@ 326035011 flat washer @ 11/30/2,5 UNI 6593
@ 40FF43747 V cone @ 281

@ 40FF43748 IV cone @ 202/221

(15) 940010105 GG ring

@ 40FF60653 special cone IV 8,5" @ 202/214/215,9 '

28.04.05 FI KIT cono IV-V_@40GB -1



OPTIONS - UC215 HW (C) cone adaptor CL @40

MOUNTINGS

@ 281

(central hole)

@ 221 (202)

(central hole)

with option 14a

@ 202
9214

@ 215,9

(central hole)

N e — i

UC215 standard equipment

2- GB FIKIT cono IV-V_@40 28.04.05



@40 |WEEEE~  OPTIONS - UC215 HW (C) cone adaptor

standard KIT equipment .
standard equipment
UC215HW
SR215/2
centering
kit ®
41FF67879
GENERAL FEATURES:
- Suitable for all truck wheels with wheel centring on hub
- Perfect for locking wheels with worn or deformed central hole
-Accuratecentringisassuredbythestudbolts(18)whentheyslipintothe correspondingholesontherimandrestontheseatsinthe
centringflange (16). The stud bolts mustbe insertedinthe spiders (19) or (21) inthe relevantholes. Tightenthe spiderwith thering
nut provided.
ITEM CODE DESCRIPTION DATA
@ A0FF67880 centring flange
@ 312120119 screw TCEI M10x20 UNI5931 (2 pieces)
@ 40FF67883 stud bolt (5 pieces)
@ 40FF67881 5-armed spider 10 holes on @ 225 Q/Q\@
10 holes on @ 285,75 X- > gb
10 holes on @ 335 @\é/@
@ 40FF67916 lockring (5 pieces)
@ 40FF67882 4-armed spider 8 holes on @ 275 0/@\0\
8 holes on @285,75 h™~8 &
o . o
o

04.09.06 FIKIT SR215_2340 GB -1



standard equipment
UC215HW

10 holes su @ 335 [8holessu@ 28575 |  [10holes su@ 285,75 |

{ |

8 holes su @ 275 10 holes su @ 225

NOTE: The flange (16) can also be fixed directly to the wheel balancer chuck without interposing the disc (10).

2 - GB FIKIT SR215_2@40 04.09.06



@40

ADAPTOR

41FF66114

SR3

OPTIONS - UC215 HW (C) cone adaptor

MAIN FEATURES :

- Suitable for van and light-truck wheels with 6 fixing holes.
- Perfect for locking wheels with a worn or deformed central hole.

- Insert the stud bolts (26) in the relevant holes in the spider. Lock with the nuts (27).
- Tighten the spider with the standard devices provided with the wheel balancer.

standard KIT equipment .

ITEM] CODE DESCRIPTION DATA

O~ .
o’ @ \O Main car models
\,
O O
N <7
6 holes over 170 @ - FIAT DAILY
- MITSUBISHI CANTER T35
@ | s0FFe6115 || 3-arm spider - OPEL BEDFORD
- FORD TRANSIT FT 130-190 100L
6 holes over 184,15@ - TOYOTA Dyna 150
6 holes over 205 @ - MERCEDES LLKW
serie 400, 500, 600, 700, T1/T2
- VOLKSWAGEN LLKW LT 35-55/L80
6 holes over 222,25@ - MITSUBISHI CANTER T75
6 holesover245@ - Light trucks in general
@ 40FF66117 Stud ( 3 pieces)
@ 40FF66116 || Nut ( 3 pieces)

FITTING

14.10.08

FI FLANGIA SR3_@J40GB -1



OPTIONS - UC215 HW (C) cone adaptor ; @ 40

2 - GB FI FLANGIA SR3_@40 14.10.08



W  OPTIONS - UC215 HW (C) cone adaptor

Kit DAYTON
20"/ 24"
(USA)
94FF37124
GENERAL FEATURES:
- suitable for one-piece rims
H - the adaptor is centred and locked on the spindle
Kit IRILEX using a cone (6) or (7) in UC215 HW standard
20"/22,5 equipment
(EUROPE) - the rim is centred on the conical sectors and
fixed with the brackets provided
94FF37122

MOUNTINGS

14.10.08 Fl Kit Ghiera rapida_@40 GB -1



QUICK

LOCKING RING
KIT 40X4
with GL
ring nut
GENERAL FEATURES:
- For locking motor vehicle wheels
41FF83154 - Use the standard cone equipment as rec-
ommended in the UC215-UC215 HW cone
flange brochure

ITEM CODE DESCRIPTION DATA

40FF51315

collar

@ 130 outside

@ 40FF51334 pressure ring @ 80 outside
@ 40FF79256 RL collar for light alloy wheels @ 208 outside
@ 40FF79258 Polyurethane ring for RL collar
@ 40FF79260 Polyurethane ring for collar
41FF79259 Complete collar
41FF79255 Complete RL collar
Sﬂ%k 41FF83146 | purary rere
locking ring A 40FF79990
B 40FF79984
C 40FF79989
D 40FF79991 @
E 18FW80018 v
F 314932039
G40 40FF43726
steel
wing nut
)
)
2 - GB FI Kit Ghiera rapida_@40 14.10.08



2 40 Universal quick adaptor UH20/2

standard adaptor accessories O

options .

UH20/2

complete adaptor
for wheel balancers

with manual or
pneumatic locking

41FF42048

GENERAL FEATURING :

« for wheels with or without central hole.

+ The additional cone 11 (CEMB patent), in most cases,
allows to center the wheel on the central hole, thus improving
balancing accuracy.

Fit for any motor-vehicle wheels with 3, 4 or 5 holes
on @95 up to 210 mm.

321232008 M8 UNI 5588

@ 2 nut

@ 325035008 2 flat washer 38,4 x17

@ 40FF33438 1 adaptor body

@ 40FF33439 1 guide disc

@ 40FF33440 5 complete stud bracket

@ 40FF33441 4 gauged screw burnished

40FF33443 1 gauged screw tropicalized

@ 940052253 1 gauge

115006002 1 t-wrench hexagon 6

@ 40FF33442 5 special nut conic 60° / spherical radius 10
112019220 1 socket spanner hexagon 19/22

@ 40FF42165 1 pre-centering cone @52+725

@ 41FF38501 1 kit of 5 special long nuts conic 60° / spherical radius 8 (for Peugeot 406)

30.05.02 Fl UH20/2_@40GB - 1



Universal quick adaptor UH20/2

FITTING

BASIC SETTING FOR PATTERN MODIFICATION

DON'T DISMOUNT

1) Change the adaptor pattern (3;4;5) according to any
requirements.
NB.:
do not lock studs (5) leaving screws (6) and (6*) loosen, to
enable the operation at point 3).

0
Q
0

T

7, A

r."'?( e
7

7,
(

2- GB FI UH20/2_@40

2) Measure the distance between two of wheel holes with the
gauge (7).

3) Line the axles of two studs to the gauge prod.

4) Lock the screws(6) and(6*).

5) Fit the wheel.
N.B.:
The use of cone (11) generally improves the wheel
centering accuracy.

6) Lock the nuts by hand (9).

7) Lock the nuts with the socket spanner (10), not too tigh.

30.05.02




RM 20/15
@15

41FF49115

Fitting with elastic

GENERAL FEATURES :
* It centers all wheels with central through hole.

standard adaptor accessories O

options .

40FF49312
940013571
40FF29927
940013796
40FF29950
40FF29932
40FF29931
325035014
40FF49313
424115606
325035013
321232012
315231064
325035006
321232006

EEROROBOEOEOOEEECH

30.05.02

1
1
2

N NN NN NN

adaptor body
shaft

cone C1
elastic
lockring
spacer
spacer
washer
movable pin
plate
washer

nut

screw
washer

nut

mw] CODE |JoyJ]DESCRIPTION

@15 L=251
@ 15-25

@ 6 L=580
@15

@15 L=40
@151=20
@15x 28

@13 x 24 UNI 6592

M12 UNI 5588

TS M6x25 UNI 6109
@ 6,4x12,5 UNI 6592
M6 UNI 5588

CODE |.,|DESCRIPTION

@ orraet2t 1 shatt  B15L=270 (im0
@ 687 2 cne 01535
@ rrss162 1 elastic (17) ©61=680
@ 4FF51299 1 COMPLETE KIT OF CENTERING BUSHES
40FF31651 2 B1L=30 @28 Yamaha
A0FF38838 2 B2L=30 @25 Kawasak
Yamaha, Honda, Aprilia,
40FF38837 2 B3L=30 @22 Gilera, Kawasaki, Suzuki
¥a_mahﬁ, Eonda, f(\_prisha, BkMW,
AOFF38836 2 BAL=30 @20 R e aues: ki
40FF38835 2 B5L=25 @17  Yamaha, Suzuk,KTM
40FF38834 2 B6L=20 @16 Moto Guzzi
AOFF33833 2 BTL=0 B15  Girs Kowaeart S
4OFF49378 2 B8L=25 (19,05 Harley Davidson

Fl RM20/15-_@40GB - 1



Adaptor for motorcycle RM20/12 Da®)| 040

2- GB FIRM20/15_@40 30.05.02



